BT TRIA O - HEHHEE X T EFEJ'ZiGEMH KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,718 87,140 41,704 45,436
RIRET1T 5 12 6 6
RIRET2T 25 53 25 28
RIRET3T 134 438 221 217
RIRET4T 387 992 485 507
B 551 1,495 737 758
REH 2,615 6,250 2,924 3,326
L&A 4,174 9,642 4,585 5,057
5E 2,483 6,026 2,920 3,106
B AN 1,238 2,861 1,356 1,505
BERT 1,128 1,814 861 953
BER2T 757 1,485 700 785
BHERST 395 905 455 450
g 2,280 4,204 2,016 2,188
BARE 251 658 332 326
= 2,174 5,261 2,484 2,777
hERE 602 1,449 661 788
e 2,315 5,203 2,512 2,691
25 L ET 2,257 5,308 2,539 2,769
B &AL BT 69 155 62 93
HEFILET1T 591 1,322 623 699
HEFILET2T 592 1,372 650 722
HEZFILAT3T 575 1,370 667 703
g 1,827 4219 2,002 2,217
B & it B Fr ET 656 1,614 790 824
BHEREBET1T 596 1,251 600 651
BHERERET2T 761 1,800 881 919
BHERERETST 770 1,698 778 920
HEFMHET4T 456 1,027 502 525
HEHFMHETST 793 1,681 805 876
HEHFHET6T 846 2,003 964 1,039
HEFRET7T 851 2,000 968 1,032
HERERETST 56 167 77 90
£t| 5129 11627 5,575 6,052
HEF R FET 1,764 3,898 1,905 1,993
S|EFET1T 568 1,529 764 765
S|EFET2T 755 1,838 884 954
S|EFET3 T 726 1,483 711 772
g 2,049 4,850 2,359 2,491
ERE1T 547 1,334 646 688
EIRET2T 329 827 409 418
EREIST 468 1,341 652 689
EIRETAT 671 1,558 732 826
EIZEIST 472 976 486 490
g 2,487 6,036 2,925 3,111
MEH 2,760 6,321 2,981 3,340
J\THET1T 25 27 8 19
J\THET2T 24 62 31 31
J\THEI3T 57 129 62 67
B 106 218 101 117
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